9.3_4 Combining Two Functions - Products and Quotients (F2018e-p) January 16, 2019

Last day's Work:
pp. 528-530 #lce, 2,}_*, 7ac, 8/,1,(1, 12, 19
*answer wrong in back...there is no domain, so it is impossible for f-g to exist.

p- 528 3. What is the domain of f — g, where f(x) = Vx + 1 and
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8. The graphs of f(x) and g(x), where 0 = x = 5, are shown. Sketch K: i
the graphs of (f + ¢) (x) and (f — g) (x).
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10. a) Is the sum of two even funcrions even, odd, or neither? Explain.
b) Is the sum of two odd functions even, odd, or neither? Explain.
¢} Is the sum of an even function and an odd function even, odd, or

neither? Expla.in. EUM
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p-530  16. Letf(x) = x° — nx + Sand g(x) = mx” + x — 3. The funcrions
are combined to form the new function A(x) = f(x) + g(x). Points

(1,3) and (—2, 18) satisfy the new function. Determine the values
of 7 and 7.
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9.3 and 9.4 Combining Two Functions: Products and Quotients

"l can multiply and divide functions. | know their main properties.
| can apply what | have learned in unfamiliar settings."

Given functions f(x) and g(x) :
The product of two functions is / (x) - g(x) which can also be writtenas (f x g)(x).
The quotient of two functions is f(x) + g(x)

which can also be written as (f + g)(x) , where g(x) # 0.

Ex. 1:
Show using Desmos?
Complete the table of values, then X=© ¥=3 ’
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The d0m ain Of : If unsure, use extra points.

(f x g)(x) 1s the intersection of the domains of f(x) and g(x).
De 5 ZREES p
(f =+ g)(x) is the intersection of the domains of f(x) and g(x)
except in the case where g(x) = 0. Dy 3x€m) Dﬁ e S
D,Qj ‘e /XE0, 3%
Ex. 2: State the domain of (f + g)(x) where f(x)=3x" and g(x)=x" —4x.
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Practice: pp. 537-538 #4bd, 5bd, 8ab, 10 AND p.542 #1bc, 2 (just for 1bc).
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g(x)=—-x"+3x
E@#i(%\m&‘ )(:'EO ) 3

VA.- x=0, x==

las v, s 07 222
X (}3)
.0
t.4. - CO0=X43
.',L}TO =3

o)

%mt ok =0
QuT \¢0

Iy



9.3_4 Combining Two Functions - Products and Quotients (F2018e-p) January 16, 2019



9.3_4 Combining Two Functions - Products and Quotients (F2018e-p) January 16, 2019

Recall:

(from Unit 5)
— axtdr y= AR+ A _ Oftaxtdr
cxtd cRtdrte (Rtdpe
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